4.2

4.2.1
(1)
-4.2.1.1
-4.2.1.1

fo (cm/s) 0.00100 | 0.00010 | 0.00050 | 0.00050 | 0.00010 | 0.00010

Sf2 (m) 0.015 0.020 0.010 0.010 0.005 0.005

Sf1 (m) 0.010 0.005 0.005 0.005 0.002 0.002

Sfo (m) 0.005 0.002 0.002 0.002 0.001 0.001

N (™ sy o070 2.00 0.30 0.30 0.03 0.03

a ri - 1.0 1.0 1.0 1.0 1.0 1.0

h (m) 0.0 0.0 0.0 0.0 0.0 0.0

A
B | ( )
fo cm/s

fo 2 260 mm/h (0.00722 cm/s) 130 mm/h

(0.00361 cm/s) 80 mm/h (0.00222 cm/s)
1/2 1/10
2 140mm/h(= 0.00389 cm/s) 0.9cm/h(= 0.00025cm/s)
fo 0.00100 cm/s
Si2, St1, S0 M
b ( 30

) S 20~50mm S 10~20mm
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N(m™ s

1)
oari m
1)
1.0
(2
-4.2.1.2
-4.2.1.2
) ) )
Kz (cm/s) 1.00E-03 1.00E-04 1.00E-05
Kx | (cm/s) 1.00 0.10 0.01 10°
D (m) 1.00 1.00 1.00 AB
0s - 0.60 0.60 0.60
0w - 0.30 0.30 0.30
b - 15.00 15.00 15.00
h - 0.30 0.30 0.30
Kz, Kx cm/s
b 101
104 104 108
cm/s
10 108 cm/s

10°
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AB
AB 1m
0 s 0w
( ) 6s 06 Bw 03
4.2.1.1 Brooks and Corey 15
0s 0.6
6w 03 ——B=1 —E&—B=10
—A—B=20 —%—B=100
b 1 10 20 100 = O = A=0] = © = \=2
] 030  0000] 0000 0000  0.000 10 = A= A5 = = A=10
032 0058  0012]  0001]  0.000
034 0117|0026  0003]  0.000
036] 0177] 0043] 0006|0000 08
038| 0238 0064  0010]  0.000 v
040|  0301] 0090 0016  0.000 06 L
042|  0364| 0122] 0025  0.000 12
044  0430] 0160 0038  0.000 A
046]  0496| 0207] 00s8] 0000 04 1 ,°
048]  0564| 0265 0088  0.000 7 ‘e
050  0633] 0335  0.133]  0.000 02 L E“’l
052| 0703|0420 0200  0.000 2% ’
054  0775| 0525|0299  0.002
056] 0849] 0653] 0448 0018 0.0
o <t [} [oN] [{} o < [ee]
058|  0924| 0809 0670]  0.35 @ o o ¥ I ® O B
o o o o o o o o
060 1000/  1.000]  1.000] _ 1.000
-4.2.1.1
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3)

- 4213
-4.2.1.3
) ) )
Au (mm;::day' 0.100 0.050 0.025
Ag | (Uday) 0.010 0.003 0.001
Sg (m) 0.70 050 0.30
h (m) 0.70 050 0.30
Au mm¥Y? day?? |, Ag lday
% Au 0.05
Ag Au Ag
Sy
0.5m
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4

-421.4
-4.21.4
c 6.0 7.0 8.0
s 05 05 05
no|m*? sY 0.040 0.035 0.030
h (m) 02 02 0.2
a | (Uday) 0.0 00 0.0

C S

-1/3

4)
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®)

4.1
- 4215
2001
-4.2.1.5
) 3.8m°/s
) 52m’/s
19m*/s ) 6.3m°/s
20m°/s
am’/s
5m°/s
- 4216
-4.2.1.6
(m®/s)

0 20 75

20 30 70

30 50 65

50 100 60

100 150 50

150 300 50
300 500 40

500 40

56.25
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4.2.2
(1)

- 4221
-4.2.2.1
COD |BOD | T-N | T-P
CR | (mgl) | 150| 150| 0.80| 0.04
-4.2.2.2
kg/ha/
coo| TN T-p
1977 1332 0511|g/has  x 0.365
1073 1245 0391
1977 1365 0453
1172 054
1073 1975 1080 13690270 0332
1975 560 0475
1976 631 0631
1244 0402
1086 3256 854 0185
1082 7649 065
19834 19843 86.38 1167 0,693
1926 2618
107410 1977.9 136 045
19765 1980.4 6.74 0548
19744 1976.1 104 017
1977 1980 (10.0) 036 Nox_,z'H“NOZJ'
1065 1967 (3061) 065
19744 19753 (15.14) 061
19747 10753 (857) 022
(5.58)
19746 1974.10 (4.45) 047
611 073
673 044
157 052
128 009
1978 1979 184
1085 1987 3274 783 0132
1977 172 100 044
172 45 009
86.4 306 262
422 13 053
1400mm
COD
BOD COD
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(2)

-4.223 (

COoD |BOD | T-N | T-P [ COD |BOD| T-N | T-P | COD |BOD | T-N | T-P | COD | BOD| T-N | T-P [ COD | BOD | T-N | T-P | COD | BOD | T-N | T-P
m - 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1] 1 1 1 1 1 1 1 1
K - 0.010 | 0.010 | 0.010 | 0.002 | 0.010 | 0.010 | 0.010 | 0.002 [ 0.010 | 0.010 | 0.010 | 0.002 | 0.010 | 0.010 | 0.010 | 0.002 | 0.010 | 0.010 | 0.010 | 0.002 [ 0.010 | 0.010 | 0.010 | 0.002 |T-P COD,T-N 15
n - 2| 2 2 2| 2| 2| 2| 2| 2 2 2| 2| 2| 2| 2| 2] 2| 2| 2| 2] 2| 2 2 2|
Su (9) 500| 500| 250 60| 3000| 3000| 1250| 400| 240| 240| 5000/ 150| 500| 500| 250 60| 3000| 3000| 1250| 550| 500| 500| 250 60
Ks (Uday) 0.20| 020/ 020/ 0.20f 0.0, 0.20| 020 020 020| 020{ 020] 020 0.20f 0.20| 0.20| 0.20] 020, 0.20| 0.20| 020 0.20| 0.20| 0.20| 0.20|T-P COD T-N 15
TO () 0 0| 0| 0} 0| 0| 0| 0] 0| 0| 0| 0f 0| 0] 0 0} 0| 0| 0| of 0 0| 0| 0}
COD | BOD | T-N | T-P | COD | BOD| T-N | T-P | COD |BOD| T-N | T-P | COD | BOD| T-N | T-P | COD | BOD | T-N | T-P | COD | BOD | T-N | T-P
m - 1 1 1 1 1] 1] 1] 1] 1 1 1] 1] 1] 1] 1 1 1] 1] 1] 1] 1 1 1 1
K - 0.010 | 0.010 | 0.010 | 0.002 | 0.020 | 0.020 | 0.020 | 0.004 | 0.010 | 0.010 | 0.010 | 0.002 | 0.010 | 0.010 | 0.010 | 0.002 | 0.020 | 0.020 | 0.020 | 0.004 | 0.010 | 0.010 | 0.010 | 0.002 [T-P COD,T-N 15
n - 2| 2 2 2| 2| 2| 2| 2| 2 2 2| 2] 2| 2| 2| 2] 2| 2| 2| 2| 2| 2 2 2|
Su (9) 500| 500| 250 60| 3000| 3000| 1250| 400| 240| 240| 5000| 150( 500| 500| 250 60| 3000| 3000| 1250| 550| 500| 500| 250 60
Ks (Uday) 0.2| 0.20] 0.2 02| 020 0.20[ 020 020f 020 020 020 020 020 0.0 0.20 0.20 0.20 0.20| 0.20[ 0.20[ 0.20 0.20 0.20| 0.20|T-P COD T-N 15
TO () 0 0| 0| 0] 0| [ 0| 0) 0| 0| 0| [ [ 0| 0 0] 0| 0| [ [ 0 0| 0| 0]
T-P COD,T-N 1/5
TP COD T-N 15
T-P COD,T-N 1/5
T-P COD T-N 15
0
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3)

-4.2.2.4
-4.2.2.4

COD [ BOD | T-N | T-P
kL | (Uday) |0.200] 0.300 | 0.200 | 0.200
k3 | (Uday) |0.100 0.200 | 0.100 | 0.100
xt | (Uday) |0.0010.001 | 0.001] 0.001
CA | (mg/l) |1.000]1.000 ] 1.000] 0.100

(4)
4.1
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423
(1)

4.2.3.5

-4.23.1

-4.23.1

-4.2.3.1

13.8 km

28.1 km

59.7 km

94.7 km

68.3 km

28.7 km

181.0 km

130.6 km

124.0 km

39.6 km

27.7 km

26.5 km
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(2)
1)

-4.2.3.6

Kf 1/10
Ka, Ko /2

Kfo 1/10
Kg 10
Kso

25

Kfo 1/10
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-4.23.9
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-4.2.3.2 4 -4.2.3.11(1)
(H9)
-4.2.3.11(2)
-4.2.3.2 (2001 )
( (ton )

1.70 29.12 1.44 12.41 0.15 0.00 0.54 49.86 5.82 2412 12517

8.10 12.24 0.64 2.66 0.07 0.00 0.15 14.02 3.62 1.58 43.08

8.35 13.44 0.70 2.94 0.08 0.00 0.06 12.07 2.73 1.95 42.32

19.37 1.69 0.09 0.38 0.01 0.00 0.04 15.06 5.08 0.45 42.18

13.27 2.35 0.18 1.13 0.00 0.00 0.01 16.30 3.50 0.16 36.89

4.85 0.55 0.04 0.27 0.00 0.00 0.00 5.37 0.98 0.31 12.38

0.00 1.79 0.16 0.63 0.02 0.00 0.01 2.69 0.00 1.29 6.59

0.00 5.84 0.51 2.04 0.07 0.00 0.05 10.71 3.51 0.77 23.50

39.81 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 39.81

95.46 67.02 3.76 22.46 0.40 0.00 0.86 | 126.08 25.25 30.63] 371.92

( (ton )

2.47 28.86 2.68 10.81 0.13 0.00 0.54 49.86 13.06 1754 125.95

10.67 12.13 1.18 2.32 0.06 0.00 0.15 14.02 8.11 117 49.81

13.69 13.32 1.30 2.56 0.07 0.00 0.06 12.07 6.12 1.38 50.58

25.68 1.68 0.17 0.33 0.01 0.00 0.04 15.06 11.40 0.33 54.69

15.32 2.33 0.34 0.99 0.00 0.00 0.01 16.30 7.84 0.13 43.26

5.16 0.54 0.08 0.23 0.00 0.00 0.00 5.37 2.21 0.22 13.81

0.00 1.77 0.29 0.55 0.02 0.00 0.01 2.69 0.00 0.98 6.31

0.51 5.79 0.94 1.78 0.06 0.00 0.05 10.71 7.88 0.57 28.28

45.29 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 45.29
118.79 66.42 6.98 19.57 0.35 0.00 0.86] 126.08 56.61 22.31| 417.97

( (ton )

4.60 12.96 3.00 3.96 0.01 0.00 11.14 23.44 7.06 8.92 75.09

12.90 5.44 1.33 0.85 0.01 0.00 3.16 6.26 4.38 0.62 34.96

11.84 5.98 1.46 0.94 0.01 0.00 1.33 5.04 3.31 0.64 30.53

35.09 0.75 0.19 0.12 0.00 0.00 0.92 6.29 6.16 0.17 49.68

18.93 1.05 0.39 0.36 0.00 0.00 0.16 7.19 4.24 0.09 32.40

5.17 0.24 0.09 0.09 0.00 0.00 0.04 2.26 1.19 0.10 9.18

0.00 0.80 0.33 0.20 0.00 0.00 0.13 1.22 0.00 0.56 3.24

1.82 2.60 1.06 0.65 0.01 0.00 0.45 4.62 4.26 0.30 15.77

56.58 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 56.58
146.92 29.82 7.85 7.17 0.04 0.00 17.33 56.31 30.60 11.39 | 307.43

( (ton )

0.39 1.21 0.45 0.59 0.00 0.00 0.07 1.60 0.42 2.62 7.36

0.62 0.51 0.20 0.13 0.00 0.00 0.02 0.49 0.26 0.17 2.40

0.57 0.56 0.22 0.14 0.00 0.00 0.01 0.42 0.20 0.22 2.33

2.07 0.07 0.03 0.02 0.00 0.00 0.01 0.59 0.37 0.05 3.20

1.28 0.10 0.06 0.05 0.00 0.00 0.00 0.67 0.25 0.02 2.43

0.52 0.02 0.01 0.01 0.00 0.00 0.00 0.21 0.07 0.04 0.87

0.00 0.07 0.05 0.03 0.00 0.00 0.00 0.08 0.00 0.13 0.36

0.09 0.24 0.16 0.10 0.00 0.00 0.00 0.37 0.26 0.08 1.30

4.88 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 4.88

10.42 2.78 1.18 1.07 0.00 0.00 0.11 4.41 1.84 3.32 25.13
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BOD COD
, 31 >
372 t/d 18
ay 418 t/day
, 127
, 127
T-N T-P

, 3.3

307 t/day 25.1 t/day

-4.2.3.11(1)
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257 t/day

T-N

237 t/day

- 4.2.3.11(2)

206

303 t/day

18.3t/day







-4.2.3.3 (2001 )
(t/day) mg/l)
(m3/s)
103.4 17.5 27.7 19.1 1.8 1.96 3.10 2.14 0.20
822| 217| 373| 290| 19| 3.06| 525| 408| 027
65.8 27.2 45.1 28.6 2.2 4,78 7.93 5.03 0.39
478| 248| 475| 454| 30| 6.00] 11.50| 10.99| 0.73
535| 195| 36.8| 30.0| 23| 422| 7.96| 6.49| 050
14.4 7.2 12.4 8.8 0.8 5.79 9.97 7.07 0.64
287| 34| 52| 28| 03| 137 210 1.13] 012
200| 98| 195| 11.8| 11| 3.93| 7.80| 4.72| 044
36.8 39.8 45.3 56.6 49| 1251 | 14.24 | 17.78 1.54
) 4616 | 171.0 | 276.8 | 232.1 18.3 4.29 6.94 5.82 0.46
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5.74E-01| 5.74E-01f 2.51E-01] 1.60E-02
6.04E-05] 6.04E-05] 1.03E-05] 0.00E+00]
- 4.2.3.24(9)

(mg/1)




4.2.4

(1)
-424.1 -4.242
-4.24.2
-4.24.3
-42.4.1 2 4
-424.1
-424.1
D.L+Z0 Z0 =110cm
45.0km 47 5km -4.2.4.2
S 500x 500 m 95 x 90
4
5m 5m
2 10m
3 15m
4 30m
t 10.0
1 365 8760
f 8.40x 10 °rad /sec 35 18.0’
5.0x 10° cm?®/sec
2.0 cm’/sec
5.0x 10° cm?®/sec
0.5 cm?®/sec
r,, 0.0026
742
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-4.2.4.2

[Ts | | 20[2) 20 15
Ag 0.026(2) 0.026
A h 0.268|2) 0.268
Is MJ/10min 0.176{1), 2) 0.176
K in mgN/| 0.042]2) 0.042
K ip mgN/| 0.003|2) 0.003
U _pmax 1/day 0.25(1) 1.0(20 )2)1.03) 045 253
Rp 20 1/day 0.08{1) 0.04(20 ) 2) 0.08
0 p 1.05|2) 1.08
wp cm/day 0.28{1)0.14)0 1.35
o pi 0.5]2) 0.5
y pz plankton plankton 40.5]1) 50.0 2) 40.5
oz 0.4/1) 0.7 2) 0.4 0.85
Rz 0.02(2) 0.02
0z 1.05|2) 1.045
Dz 0.1/1) 0.21(20 ) 2) 0.1
Cgmax |20 |/mgC*day 0.72(1) 0.76(20 ) 2) 0.72
0 pg 1.05|2) 1.066
K pg Michaelis 0.012(2) 12
azi 0.5|2) 05
Inorganic Nitrogen)
Yy pn 5|1) 0.558 2) 9.6
K n 1/day 0.082{1) 0.08(20 ,DOM 2) 0.082
0 on 1.05|2) 1.08
Yy zn 0.21(2) 0.21
0 in 1.05|2) 1.05
Win gN/m2/day 1) 0.00064 2) 0.025)0 0.35
won m/day 0.90]1) 0.432(POM 2) 0.35) 1.0,35
Inorganic Phosphorusn)
Y pp 0.075]1) 0.038 2) 1.0
K p 20 1/day 0.062{1) 0.08(20 ,DOM 2) 0.062
0 op 1.05|2) 1.05
v zp 0.016]2) 0.016
0 ip 1.05|2) 1.05
Wip gP/m2/day 1) 0.033(D0O=0.0 ,5)0 0.005
w ip m/day 0[1) 0.432(POM 2)035)1.2
w op m/day 0.90(1) 0.432(POM 2)035)12
(Chemical Oxygen Demand)
Vv pc COD 250|1) 13 2) 446
y zC COD 1112)1.1
K C 1/day 0.07{1) 0.4(20 ) 2)0.235)0.1
0 c 1.05/2) 1.05
0 cod 1.05|2) 1.05
Wcod COD mg/m2/day 0.2]5) 0 0.25
w cod COoD m/day 0.2|1) 0.432(POM 2)0.34) 024 2325)0.32
(Dissolved Oxygen)
Yy op plankton DO 152.0]2) 152
y 70 DO 1.83[2) 3.65
SOD g02/m2/day 1)1.020 )2)03
0 sod 1.05|2) 1.05
K 0S 1/day 1.0{2) 0.6
0 os 1.05|2) 1.05
1) 3 46 (1999)
2) 14 H15.3
3) H11 P599  6-3.15
4) H11 P666 6-7.1
5) H9.3
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-4.2.4.3 5)

I-N I-P
ke -72.5 -7.0
faled -24.5 -3.5
ol -120.0 -10.0
faled 15.0 -9.0
294.7 27.0
294.7 27.0
294.7 27.0
99.7 8.8
407.3 394
294.7 27.0
182.0 14.6
294.7 27.0
20.0 11.1
14.0 7.8
10.0 5.6
-4.2.4.4 DO 5)
DO
mg/mz2/day
967.8
1143.9
1143.9
2129.0
3643.7
2129.0
2129.0
956.4
3643.7
4410.0
5176.2
4410.0
956.4
669.5
478.2
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(2)
1) ( )
13
COD T-N TP

a)l-N I-P
-4.2.4.5
T-N I-N T-P I-P -4.2.4.6 -4.24.7
- 4246 - 4247
4.2.4.5
o I-N/T-N
1
2
o I-P/T-P
0.85
, HP T-N
TP I-P
b)
-4.2.4.5
-4.2.4.10
( -4.2.4.8)
-4.2.4.9
c) DO
DO (mg/1)

— (10.291 - 0.2809T + 0.006009T > — 0.000063T * )x 32/27.4
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d) Chl-a

Chl-a COD Chl-a
( -4.2.4.11) COD Chl-a
-4.2.45
[-N/T-N I-P/T-P Ax B
A B
0.886 0.529 0.745 3.797
0.890 0.546 0.745 3.797
0.903 0.850 0.745 3.797
0.900 0.553 0.745 3.797
0.927 0.850 0.745 3.797
0.753 0.532 0.745 3.797
0.753 0.470 0.745 3.797
0.753 0.508 0.745 3.797
0.920 0.823 0.745 3.797
( ) 0.753 0.506 0.745 3.797
( ) 0.928 0.850 0.745 3.797
( ) 0.753 0.817 0.745 3.797
( ) 0.927 0.850 0.745 3.797
1 0.919 0.776 0.745 3.797
( ) 0.925 0.850 0.745 3.797
2 0.924 0.848 0.745 3.797
1 0.753 0.556 0.745 3.797
2 0.753 0.690 0.745 3.797
( ) 0.753 0.544 0.745 3.797
( ) 0.925 0.850 0.745 3.797
0.753 0.815 0.745 3.797
0.920 0.790 0.745 3.797
0.899 0.534 0.745 3.797
0.753 0.715 0.745 3.797
0.916 0.776 0.745 3.797
0.884 0.349 0.745 3.797
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
() 0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
0.905 0.167 0.483 13.871
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IN/TN  |IP/TP
0 66.0 105 11.8 0.9 6.4 45 286 0.8855] 05294
1 60.5 76 8.9 0.4 14.2 83 308 08902] 05455
2 03 54.1 83 0.1 347 25 971 | 09025 08500
3 60.4 01 0.8 01 308 7.8 31.7 0.9002 0.5527
4 31 18 12,6 03 758 6.4 90.2| 09272[ 08500
5 67.0 239 25 11 25 2.9 290 07532[ 05321
6 63.3 16,5 13 08 30 15.2 207 07532] 04698
7 69.4 15.6 16 0.0 86 48 258| 07532] 05082
8 155 04 29 0.0 64.4 16.7 67.8 0.9204 0.8231
9 ( 54.5 118 55 0.9 8.2 19.1 255 0.7532 0.5056
10 ( ) 18 0.0 0.9 0.9 77.9 18.6 788 | 09284[ 08500
11 [ 18.1 32 5.3 0.0 58.5 14.9 670 07532] 08174
12 ( 0.0 0.0 0.0 0.0 76.0 24.0 760 09273[ 08500
13 1 212 0.0 0.0 0.0 615 173 615 09186] 07762
14 ( 12 37 1438 74 716 12 901 | 09247] 08500
15 2 0.0 0.0 0.0 0.0 711 28.9 711 09244[ 08480
16 304 7.1 125 18 125 35.7 321 07532] 05558
17 184 316 0.0 0.0 184 316 500 | 07532] 06897
18 ( 458 85 0.0 17 220 22,0 305 07532] 05435
19 ( 0.0 6.1 18.2 0.0 72.7 3.0 97.0 0.9253 0.8500
20 26.7 133 0.0 0.0 53.3 6.7 66.7 0.7532 0.8147
21 0.0 0.0 0.0 0.0 63.3 36.7 633 | 09197[ 07897
22 0.0 0.0 0.0 0.0 29.2 708 292 08992] 05335
23 133 0.0 0.0 0.0 533 333 533| 07532] 07147
24 0.0 0.0 38 77 57.7 308 615| 09163 07762
25 0.0 0.0 0.0 0.0 45 95.5 45 0.8844 0.3488
0’ 68.1 104 116 0.9 4.9 39 270 08867] 06786
0’ 67.1 10.6 11.8 0.9 52 4.3 27.7 0.8316] 17140
17 66.9 8.3 9.1 03 8.3 7.0 257 0.8900[ 03236
17’ 65.7 8.2 9.0 03 9.1 77 26.3 0.6780]  5.6685
2’ 0.1 69.4 74 0.1 206 23 975 0.7951] 25911
3" 985 0.0 0.0 0.0 13 0.2 13| 08770] 0.3966] 0.6056] 4.2425
5” 675 234 26 11 26 29 285| 07883[ 05505 0.9213[ 0.3249
6” 63.6 16,5 13 08 3.0 14.8 208 07247] 03731] 1.0121[ -0.8087
7’ 743 164 0.6 0.0 7.0 18 240 | 07466 0.7493[ 31120
8’ 23.2 0.6 45 0.0 62.6 9.0 677 09159] 08458 0.6454] 77714
IN/TN IP/TP
092 1.20
.
091 | 100 | /
0.80
0.90
E "’Eo.eso H
Z089 | o y = 0.0006x + 0.8817 [ y = 0.0075x + 0.3147
P R? = 0.9415 0.40 . R? = 0.6351
088 | 020 I
087 ‘ 0.00 ‘ ‘ ‘ ‘
0 20 40 60 80 0 20 40 60 80 100
-4.245 I-N/T-P I-P/T-P -
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TP(mg/1)
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-4.2.4.7 (2)
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% Iy =0.7449x + 3.7973
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-4.2.4.8
2001

1 16 49 30
2 17 6.6 /
3 18 9.8 25
4 21 157 0/’
5 22 195 20 | .
6 24 23.1 pJ
7 28 285 5
8 27 26.4
9 2% 232 y = 04827x + 13.871
10 23 187 10 ¢ R? = 0.9628
11 21 13.1
12 19 8.4 5

218 165 0
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(
y
( )
1)
17 1 2004 PP13-21
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- 4.2.4.10(2)
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2.7371x + 3.7222
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TOKYOWAN
230529
B 43 @ 230529
35° 19" 36"
o 5 (19.6)
1970 3 9 3 17 A
19°
om/sec | © com/sec | © ° em/sec | © ° cm/sec | © cnvsec | ©
13.6 71| 62| 136 13 [ 13.9 76| 103| 55| 166 138 78
9.1 91f 39| 167 7] 92 94 97| 371 184] 90 99
25 91f 10] 167 7] 25 94 97| 10| 184] 24 99
2.6 | 347 42 45 67 45 34| 157 21| 124 3.4 7
211 115 151 209 | 354 211 111 84 15] 201 20] 130
09| 347( 14 45 67] 15 34| 157 07| 124{ 11 7
03| 332 05] 201[ 295 0.6 11 25 02] 281 02| 297
11| 351 05| 152 | 335 12| 347 65 0.2 77 09] 355
-1.7 -3.0 3.5 241 -2.6
10
TOKYOWAN
230532
B s o 230532 20 0cars
35° 29 0 (40 ) 41)
50 m
1970 3 10 3 19 B
51°
om/sec | © com/sec | © ° em/sec | © ° cm/sec | © cnvsec | ©
96 75( 81 66 40] 125 71] 130 09 341 123 70
4.9 93( 28 99 30] 57 95| 120| 0.2 185f 53 96
13 93( 08 99 30] 15 95| 120| 0.1 185( 14 96
49 55 82] 131 78 84| 124 168 47| 214 7.7] 108
4.2 63 52 90 52| 65 80| 142 | 15| 170{ 65 80
16 55f 27| 131 78| 281 124| 168 15| 214] 2.6] 108
0.8 10 07] 312 35 09| 349 125 05] 259 09 ] 341
23] 305 10] 320 23 25| 307] 113 0.2 37 221 310
2.1 -6.7 7.0 288 -39
15
CHIBAKO ANEGASA
230402
o o 230402 20.0c0/s
50 m (72,48)
1963 3 1 3 16 C
64 °
» 9
,l
om/sec | © com/sec | © ° em/sec | © ° cm/sec | © cnvsec | © 6
33 64| 51 65 57] 61 65| 147 | 01] 155{ 6.0 65 G v
d
15 74 30 91 64] 33 88| 154| 04| 178( 33 88 3 4
0.4 74 08 91 64] 09 88| 154| 01 178( 09 88
08| 287 11 21| 276 11| 206 6 0.8 ] 296 11 2
20| 331 238 55 83| 28 50| 173| 2.0| 140 28 37
19| 333] 2.6 26 59] 29 11] 149 13) 101{ 29 13
07] 331{ 09 55 83] 09 50| 173| 0.6 140{ 09 37
13 54| 09| 213] 323[ 15 47 53| 03[ 137] 04/ 183
0.2 ] 309 0.1] 248 25 02| 296 | 115 0.1] 206 02] 273
0.2 83 05] 264 293 0.5 84 23 0.0] 354 03] 264
-6.9 -44 8.2 212 -7.0
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(COD T-N
- 4.2.4.16

-4.2.4.17 -4.2.4.20

- 4.2.4.16

15 12

COoD T-P
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DOmg/I TP(mg/1) TN(mg/1) COD(mg/1)

Chl-a(mg/1)

20
15
10

0.30
0.25
0.20
0.15
0.10
0.05
0.00

253

13 — 1 —
[ ]
L * ¥y
. +
’. L L L L L L L L
4 5 6 7 8 9 10 11 12
I + ¥ e ¥
+ +« t v
i *
4 5 6 7 8 9 10 11 12
4 5 6 7 8 9 10 11 12
:* * ) + *
‘ ‘ ‘ ‘ S .
4 5 6 7 8 9 10 11 12
L W
- [ ]
" e e ‘ ‘ e N\ . —
1 3 4 5 6 7 8 9 10 11 12
(mg/l) COD T-N T-P DO Chl-a
( ) 4.217 1117 0.112 8.175 0.023
(1) 3.551 1.565 0.118 9.193 0.049
-4.2.4.16 (1)




DOmg/I TP(mg/l) TN(mg/1) COD(mg/1)

Chl-a(mg/1)

13 E— 1 —
[ ]

20
15 |
10 Yo

5 * +

O T hd L L L L :- ‘k'k\-,- M

1 2 3 4 5 7 8 10 11 12

0.30

0.25
0.20 r

0.15
010 r
0.05 .

_-_,_’OM ° ° ° ° .
000 I L L L I I Vn\-—
1 2 3 4 5 7 8 10 11 12
(mg/) | _COD T-N T-P DO Chl-a
( ) 3.892 1.011 0.087 8.542 0.018
(1) 3.533 1.157 0.090]  10.159 0.052
-4.2.4.16(2)
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COD(mg/1)
o

o o

=

TN(mg/l1)

TP(mg/1)
o o
= N

0.30

11

12

50.25 3
20.20
wor |
®

/AN

©0.05

S VAl

r - .

0.00

5

6

7

8

10

11

12

COD

T-N

TP

DO

Chl-a

3.983

1.036

0.079

9.550

0.017

2.398

1.271

0.094

6.750

0.020

- 4.2.4.16 (3)
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DOmg/I TP(mg/1) TN(mg/l1) COD(mg/l)

Chl-a(mg/1)

20
15
10

3.0
25
2.0
15
1.0
05
0.0

05
0.4
0.3
0.2
0.1
0.0

0.30
0.25
0.20
0.15
0.10
0.05
0.00

13

11

12

11

12

11

12

11

12

COD

T-N

Chl-a

3.283

0.912

0.069

8.525

0.012

2.790

1.096

0.087

7.523

0.031

-4.2.4.16 (4)
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DOmg/I TP(mg/l) TN(mg/1) COD(mg/1)

Chl-a(mg/1)

20
15
10

3.0
25
2.0
15
1.0
05
0.0

05
0.4
0.3
0.2
0.1
0.0

0.30
0.25
0.20
0.15
0.10
0.05
0.00

13

+
»

10

11 12

11 12

COD

T-N

DO

Chl-a

2.542

0.688

0.054

8.200

0.007

1.894

0.979

0.073

7.201

0.014

-4.2.4.16 (5)
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